Manuals+ — User Manuals Simplified.

FIAMMA F455

FIAMMA VW T5 / T6 MULTIRAIL REIMO Instructions

Home » FIAMMA » FIAMMA VW T5 / T6 MULTIRAIL REIMO Instructions "

Contents
1 FIAMMA F45s VW T5/T6 MULTIRAIL REIMO KIT
Instructions
1.1 Package Contents
1.2 Installation Instructions
1.3 Safety Instructions
1.4 Warranty
2 Documents / Resources
2.1 References
3 Related Posts

FIAMMA F45s VW T5/T6 MULTIRAIL REIMO KIT Instructions


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/fiamma
https://manuals.plus/fiamma/vw-t5-t6-multirail-reimo-manual.pdf

M CHAMMA

Please consult the website for instructions in the languages: NL-SV-DA-NO-FI-PT

139 mm

108 mm

177 mm

986552156

]. F45s



Package Contents

Y
A
I. - - ___‘___._—,_-:—"-':'\-
[ . @ - -
T 7 [ 2x
o C)
@) o
._."; \\_ — ;@_-_\
L N
. I — J
E\:‘/
| M6x20 | 6,4x12,5x1,6 T Me © ) M6x20
D | UNI 5732 E | UNI 6592 " F  DIngs2 G | uni 5933
 4x . 8x T 4x T 4x
Li; T 7 (‘“ T
M5 ) M6x16 NUTSERT M6 M5x14
H Dings2 | I uNi 5931 '— ‘UNIQE‘OI-A ‘_M,zx
\ 2x ‘.'\ 4x Y 4x ‘I'\.

e i © T

|
=

it ar-&/ 1)

Installation Instructions

=G}

Check that nothing has been damaged or deformed during transport.

In the event of doubts or questions concerning the installation, use or limitations of the product, contact the dealer.
We recommend that the installation is carried out by qualified personnel and in compliance with current
local regulations.

ATTENTION: INSTALLATION ON FIXING KIT

The awnings are to be fi xed on the brackets so that the words “SUPPORT” on the awning are in correspondence
of the brackets: this condition is necessary and indispensable for the two brackets situated at the extremities
(which are located on the fi xing point of the arms on the case-box). It is important, but not indispensable, for the
central bracket/s as it/they provide/s only a mounting support.

The brackets must always be well-aligned to each other to avoid later problems; in case they are not, they must
be properly shimmed using the spacers to ensure the alignment. The installation of the awning can occur only
when the brackets are perfectly aligned to the roof of the vehicle.












P
n REAR and me

®.
- L
&

p
7 4 POSITIONS AVAILABLE Puosition the bracket and awning so that they do not
I interfere with the side door.




|_

that the awning position doesn’t prevent the

Before tightening the screws, make sure
opening of the rear door.




8 5,2 mm

When using the awning please follow the
instructions of the product.

Safety Instructions

ATTENTION Periodically check the brackets to make sure they are firmly attached (especially after the first
kilometers) make sure the bolts are not loose and that holding brackets have not shifted.

Read the following instructions and warnings carefully; failure to observe these installation and usage instructions
as well as the laws for driving in the relevant country may cause severe harm or damage for which the
manufacturer declines all responsibility.

Before installation, ensure compatibility with the vehicle on which the product must be installed. Checking that the
wall/roof/rear door is sufficiently solid and suitable for guaranteeing the resistance of the anchoring points is
always mandatory. If not, strength and compliance with the maximum load indicated in the instructions are not
guaranteed and it will be necessary to reinforce it these points. In the event of an accident involving the vehicle
and/or the product, ensure that the product has not been damaged. In the event of damage, contact your local
retailer before moving the vehicle. Fiamma declines every responsibility for any modification of the product that
may cause damage and/ or injury to things and people.

Warranty
Warranty Fiamma

In case of defects with regards to materials and manufacturing, the customer is entitled to the warranty in
accordance with local laws and regulations of the country in which the product was purchased.

© FIAMMA



OF0

-

fiamma.com

Fiamma S.p.A. - ltaly
Via San Rocco, 56
21010 Cardano al Campo (VA)

All rights reserved.

Fiamma S.p.A. reserves the right to modify at any time, without notice, prices, materials, specifi cations and
models or to cease production of any model.

RO_IS_98691-102_revA

Documents / Resources

FIAMMA VW T5 / T6 MULTIRAIL REIMO [pdf] Instructions

G
VW T5 T6 MULTIRAIL REIMO, VW T5 T6, MULTIRAIL REIMO, REIMO

= i

/

4

-+ b

1 wwTs
MULTIRAIL RE}
W

-

References

« © amma.com

o © Trasera

Manuals+,


https://manuals.plus/m/07374530d1d670f0acd0078244b1dbbb4f558026ba698be23abc4fc271fbd4d8
https://manuals.plus/m/07374530d1d670f0acd0078244b1dbbb4f558026ba698be23abc4fc271fbd4d8_optim.pdf
http://amma.com
http://trasera.de
https://manuals.plus/

	FIAMMA VW T5 / T6 MULTIRAIL REIMO Instructions
	FIAMMA F45s VW T5/T6 MULTIRAIL REIMO KIT Instructions
	Package Contents
	Installation Instructions
	Safety Instructions
	Warranty

	Documents / Resources
	References



